i Instrument of Accession Wity
e

Kashmir to sigh
113. Who was the ruler of Jammu and Kash

ro |
}‘[\])dm ‘Mahamja Ha{i Singh
B) RajaGulabSingh
C) Maharaja Ranjit Singh ‘
D) None ofthe above oo i
s bl
114. Economic and social planning comes unde; Whlc
A)  Union List
B) State List .
C) Concurrent List
D) None of the above

‘ DRSS
115. Inwhich year was the constitution of J&K adopted |
A) 1967 |
B) 1956
C) 1957
D) 1968

116. Which of the following writs issue a command to a public official asking hijm, to

: 9
perform his official duties that he has failed or refused to perform?
A)  Certiorari :

B)  Mandamyg
C)  Quo-Warranto
D) Habeus Corpus

117. Which of the followin
Income Tax
Wealth Tax

Corporation Tax
Sales Tax

gisa fonn of indirect tax? ,

118. WhiChOfthefoﬂowm 3 o P
- 18 taxes ar, ished bk v :
Coperty Tax . - eabohshedby Fh?GQOdsand Serviceg Tax?
& Comorion gy ol e -
O “Vap e e

D) Allofyy, above

119, In the :

{3\) Tila Ashm‘],ja“ey “Shivaratn-” isa

Isokng
N aw Wanh Wn
C) Herat




o

100-

{07.

108.

109.

110.

111.

112.

(Set - D) =

6. Wh

jchof following is a cash crop?¢ —

A) Rice

B) wheat

0) Sugnrcm’lc
p) T

Who was the first Muslim saint of Kashmir who assumed the title of Rishi?

Bulbul Shah
B) Sultan ul Arfeefl '
C) Sheikh Nuruddin
p) Non¢ of the above
which of the following comes under the Tertiary sector?
A) Textile Manufacturing
B) Tourism

Mining
D) All of the above

ammu & Kashmir was 1€

1965, the head ofJ designated as Governor, previously called
In , the : .
f)

as ___
A) Premuer
B) Vajeer-i-aalam | » (i
C) Sadr -i-riyasat
D) Wazir

3

The Uri Dém is located on which river in Jammu & Kashmir (J&K)?
A) BeasRiver ' i 4

B) Chenab River

C) RaviRiver

D) Jhelum River

Pampore uplands, Jocally called ‘wudar’ in Sri Nagar, Jammu and Kashmir are a great
source of revenue from which among the following? ' ' '

A) Apples

B) Saffron

C) Tourism

D) Honey

With respect to the erstwhile state of Jam . :
i mu & K
Constitution of India contained? ashmlr, the Article 370 ; of the

A) Special Provisions

B) Transitional Provisions
C) Temporary Provisions
D) Emergency Provisions

[P.T.O.




99, Statement:All petsare animals.
Allanimals are magnmals.
No animal is a fish.
Some fishes are birds.

Conclusions:

A) Nomammalisa pet %
B) Al birds being animals is a possibility
C) Some pets are birds ‘

D) No petisa fish
e should the wagcy,

» at pric
100. A person incurs 5% loss by selling a watch for Rs.1140. At whatp
be sold to earn 5% profit?
A) Rs. 1275
B) Rs. 1280
C) Rs.1210
D) Rs.1260

101. A s thrice as good 2 workman as B and takes 10 days less to do a piece of work than B
takes. B alone can do the work in 14 days. The number of days taken by A alone to finjgp,
the work is - ' R e -

A) 21 , i ke, )
B) 20 : e

0 1 . | ;

D) 42

102. Fmdasm le dlS : i : : gk ¥
A) 30%g count equivalent to two successive discounts of 10% and 20/
B) 28% | » 0
0 4%
D) 10%

MAL 101 ADDA.



D) 7Q@A

KMbs @’r\ﬂ%i Ww

97, m—:};ﬁﬁ“w! Jjourn
:’)’..’) ___.,,.o.—« @M%ﬁ]@mm@'aﬁi@ 7

wlg)i" fray

A) ‘,?fi)’s@ﬂ

B) 200KM
~ C) 800KM
@)) 1600KM

98, Statement @m@’iﬁa&ﬁelmm
‘ ,_vﬂ@rmm\ﬂim
I. Some

villages are towns.
’(cih om’r.p towns isithe possibility:

B) NeitherInorlIlistrue.

C) BothI&]Ilare true.

D) OnlyIistrue.

Set )) AR Y :
il (19) P.1.O.




86.

87.

88.

89.

90.

91.

What is the national Game of India?
A)  Cricket

B) Hockey

C) Football

D) Kabaddi

Rehman Rahi is well known in Indiaas _____—
A)  Freedom fighter and social reformer

B) Poet

C) Politician

D) Scientist

Tarachand Bhatis well known inIndiaas _____—
A)  Freedom fighter and social reformer

B) Economist
C) Politician
D) Scientist

Which Indian freedom fighter gave the slogan - Do or Die?
A) Subash Chandra Bose

B) Mahatma Gandhi .

C) Lal Bahadur Shastri

D) Indira Gandhi

Which States in India have the maximum and minimum literacy rate respectively?
A) Bihar & KeralaY'

B) Kerala & Rajasthan

C) Kerald&(Bihap

D) Kerala& Odisha

In the Nationa] Fla
A)  Dark Greep
B)  Saffron

C) White

D) Blue

g of India which coloyr jg g the bottom?

Find [hew]»
A) 8 Ongtenn 9, 12,21, 128, 372 ki)

f?—‘«‘sk AT EER



s how the school fund is spent under

ec chart, answer the questions.

g thc pie

s 90 lakh, tben Wﬁatpefc

a
.school w. .
fhbt of money spent on Sports
b Terrltozy? *

Whl hofthe followmg 1s NOT a Un1on
1. Tl z 3 .
g ‘A) puducherrty

\ B) Chandlgarhu.‘ :

O) Delhi e it

. woisciss gie Ses et o E I S LA s et R

A) Kashnur Stag
B) Musk Deer

(©)) Leopard

D) Himalayan BIack Bear

83. When were the last Panchayat EIect1ons he]d 111 .Tammu and K
A September—October 20920 Bl i e

B) October-November 2020
(@) November-December 2020
D) December 2020

According to the Constitution of" Ind1a, Gram Panchayat 1s a/an CET

84.
A) Organization of the Central Government
B) Organization of a State Government
o Institution of self~-government
D) Community-Based Organisation
(Set D) e : a 7)

R D AT BN A A



]

3 e
x —
4. If \‘=\/§ 4.2, then find the value of ¥

A) 65
B) 60
C) 76
D) 52

' =  no solution, then ¢
Ifthe equations 28x + 8y + 15=0and 42X — ky-21=0haveno he Valy,

ofk is:
A 12
B) 8
C -12
D) -8

75.

76 Triangle ABC inscribed in a circle with centre O. If AB = 17 cm, BC = 1 cm apg
AC=9 cm, Find the area of the triangle ABC
A) 18 cm?
B) 36cm2
0 10cm? g
D) 50 cm? ' ‘

71. Inan equilatera] triangle ABC

8. Ina circle wj(h

7. In

= (Set - D) .
mm—l q! !ﬁ‘l ﬂ *A° 16‘) Wiﬂ A fr'?t:ﬂ& ] gt | ; | A



(Set-D)

9!2@19@@3%1
- |
1‘3) B”V@.S} , e
B) 12/13 Y
504/13 ‘
D) 36/11
71. %;@ﬁﬁﬁ@@ﬂ@ﬁﬁf*i@@?ﬁy ever, 12 ; |
%L@gﬂmm@@gmﬂi( SZ?ZE@)" -@ﬂ@iéwg*@m% |
_ Aok .
B) 5 e A et
g % | oo B
D) 50 =5 &Maﬁ
FrY g L=

0/0815 0.484 2%53

M?’ (==

Square 100t of ey g a5t 1121

A) 034

B) 45

D) 34
/:\m-,!,1WW:W%£1B@M@\@EQ%GW\ when compounded annuallyata
certs Fﬁ'}’@t}@%ﬁ?ﬁ?@ﬂh{ﬂhﬁ:ﬂﬁﬂmﬁﬁ}h erest rate.
A 150%

B) 100%

C) 300%

D) 200%

(15) BI.O:

'Y

i bl 6




63.

64.

65.

66.

67.

Humanities and Comme, Ce

The number of studeng iﬁ
, rtment students T

: o] Sciences depart > Lhg

i Phytifﬁ the total number of students in the

ther. What is the total numbe of

ge __Physical Sciences,

i lle 5
There are 3 departments in a co T dep artment.

There are 125 Students in the Phys
the Humanities department is 1/5®
Commerce department has 20 students less
Physical Sciences and Humanities department t0g€
Students studying in the three departments?

A) 380

B) 280

C) 480

D) 400

Three different positions of the same dice are shown below. Which symbol is op the
face opposite the 3 9




g

61.

62.

(Set-D) o

the related shape from the given option.

selec!

A) .
B)

C)

D) - %/ | .

ut of which three are alik
t the odd one?

e in some

In this question, four words have been given, 0
manner and the fourth one is different. Choose ou
A) Conjectur®
B) Surmise
C) Speculate
D) Terrible
Which pair of numbers does not belong to the group?
A 7,910 _
B) 13,36,7
C) 5,25,10°
D) 11,16,8
13)
[P.T.O.




55.

56.

57.

38.

Vv “_”- ‘%//
o is called

L
wrr €S Called

-‘{{“ ;{ lled ™" 5
[Fis called “+7, “Cis calleds 48
40/60 - 15 * 30 + 25 is equal to b \\%
{ b0 g b ©
0 Yo Mo
A) 165 \{’ 001\{ %
B) 170 2
C) 175
D) 150 .
| ' CE be written in that
Inacode language, FRIEND is written as GQJDOC. How will PEA
acode ¢ '
C
language? e (@I DO
A) XQFBBF pe g
B) ODBBF 24
C) QDBDF
D) (QDBBF

How many meaningfu] words can be formed with 3 different combination of the letters
of “FRIEND” using each letter only once in each word?

A) 3
B) 5
C)  More than ¢
D) 4

If> denoteg T, <denoteg - * denoteg +
denotes <. Choose the correct statemen of the following
A) 54#6#2=6#4+2X |

= X denoteg > and =



7

49.

divided into parts using Alphabets (a, b, ¢ & d). Find out whether th
. : cther there

Below sentence is
| error in any part of the se
sentence and indi
icate your respons .
’ ¢ against

is any gmmmmica

the corresponding part. |
Yy important piecegof i\l'l_fg’mgt_iogg,(b)/[ had been waiting fo
r

She gave me (n
ths. (d)

(c)/the last tWO mon

A) Shegave me
B) Two important pieces 0

C) Ilhadbeen waiting for
D) The last two months

f informations

Out of the four options, select the grammatically correct sentence.

A) Youcannot win my confidence without ever believing me.

B) You cannot win my confidence without never believing me.
fidence without believing me.

C) You cannot win my con
D) You cannot win my confidence with ever believing me.

50.

~seen

51. Out of the four options select the grammaticlly correct sentence.

A) The report was useless to them because there was no needed information.
B) Sincethe report lacked needed information it would have not been useful to

them.
C) Sincethe report did not control the needed information it was not really useful

to them.
D) Sincethe report lacked the needed information it was of no use to them.

52. Inthis question, choose the alternative bearing the correct spelling from a, b, cand d.
A) Continuum ’

B) Continuem

C) Continueem ‘ : ‘
D) Continueiam [ il ) i

53. Inthis question, choose the alternative bearing the correct spelling from a, b, ¢ and d.
A) Psudonym e _
B) Pseudonym
C) Pseudanym

D) Pseeudonym

54, Pick the correct homophone for the given sentences.

Raman was by the English King.
A) nighted KR TORg
i B) nighed ) 4
C) knighted L
| D) knighed
(11) [P.T.O.

et-D)




ce. Indicate the correct S€Queng,
tence.
scattered segments of @ sxerrllpletes the sentence.
e ‘ g o
e belowt?rea?s\;mbles the segments and ¢ &
which correctly

P.  agreed to a ceasefire todzzlle(i .
Q. inwhich51 peoplc}e1 t\?ve;e‘j I
eek of fightin
g \/Zl::gi; loyalists and rebel forces %
The correct sequence should be
A) PQRS.
B) QRSP.
C) SPRQ
D) Qrps,

‘ of t ' nveys the mogt
45.  Given below an idiom/phrase, which ofthe four alternatives co y
appropriate meaning, 1

Abanana republic
A)  Abigorrich country with a strong govem.ment.
B) A country which has been occupied by a big country.

C)  Asmallor Poor country with a wea) government,
D) A country which produces a lot of bananas,

46. Given beloy an idiom/phrase, Which of the foyr alternativeg conveys the mos;
appropriate meaning, ‘

A cock anq bull story
A)  Absurd and unbelievable,

B) Very strong anq Opinionated
Q) Very irTationa] and evj],

D) Uninteresting and unimaginative.

alternatives glven beloy
: Mica] th Progress of the People
B) for
O vigy
Upon
S‘?ﬁl%ncehasbee
Select g, o Whizlhg *Nin Actiy VoIce. Oyt of the foy;
hyWastheth. XPresseg the same sent itk Suggestedbelow,
A) By gy, e Sed by ¢y, e B ¥Pice
e o
Why m&’?h?‘éi“i o it chl’igd»
Y chag d : )
{ ~at
D) y heb“y Wag i he thiey



1dentify the correct statement

2 A) Ruther}:qr(:was an abnormal child
Rutherior¢ was an outstanding pupi .
. Ruthcrford was interested in fﬂpar?(lilsgl(lllz:; bel prize winner.
D) Rutherford was passionate about an aca gy s
39, Fill in the blank using meaningful words:
The whole country was with forests id sWarips/ The
was very misty and cold oIt
A) made, major -
covered, greater
full, other N ’
p) filled, other .
40. Fill in the blanks by selecting the correct pronouns from. the: options. that £o10R
He told me his address [ wrote down in a note-book. ;
A) when»
B) where*
O which»”
D) this¥

41. Pick out the clause in the following sentence:
il t w.
I do not know vl/e,_@g{plg will come tomorro
A) Idonot know
B) Whether he will come tomorrow

C) Idonot know whether
D) He will come tomorrow

42. Select the antonym of the word (occurring in the sentence in bold letters) and mark
your response accordingly.
position party in the Parliament.

The bill received a yehement resistance from the op

A) Animated s
B) Apathetic S
C) Fervent

D) Vigorous
43. Choose the most appropriate pair of words from the options given below to complete

the following sentence.
at the discotheque the other night

There were screams, chills and thrills
as the director along with the producers hosted a party to the success of

their latest horror flick.

A) Combined, downplay

B) Alike, mourn

C) Risen, generate

D) Galore, celebrate
—

(Set-D) o)

| ABRARAELLAH] . .

TS




4.

. In this question, the sente

rk har d, we

: itable modals: X0
ainl 8 kusmgnsmla : g, If we
S Mm;)c honest under all circumstance
L} [ T— ’
pass.
A)  should, would*
B) must, would*
C) would, will .

ill .

- d out the error part in the

nce is broken into four parts. Fin

d mark your answer. 4
fford the hospitality of the costly nursmg
the country.

sentence from the given options an
These days rich people only can
homes and hospitals coming up all over
A) These days rich people only

B) Can afford the hospitality of the costly
C) Nursing homes and hospitals coming up all over the country

D) No error
Read the following passage carefully and answer the questions No’s 36 to 38:
Ernest Rutherford was the son of a Scot emigrant to New Zealand. Ernest Rutherford

was born on 30 August 1871 in Brightwater, a town near Nelson, New Zealand. His

parents had 12 children, of whom Ernest was the fourth.
His education was in a state primary school from which children at the age of 13 could
get grants of scholarships to secondary schools and to the universities. Rutherford had
no intention of following an academic career. He was no book-worm. He was good in
any rough and tumble game and a keen football player. But he was good at Latin and he
had a passion for music and a mechanical bent of mind. At Nelson College, a state
boarding school, he was an outstanding pupil. He sat for a scholarship to Canterbury
College and this was because his masters expected it of him and he won it. There,
R Ra e o i gk il s by b o
R cowns. H _ ¢ college, Wh§re_ the students hung
gowns le was awarded the Nobel Prize in Chemistry for his Investigations into
the disintegration of the elements and the chemistry of radioactive substances.

36. : ,
Rutherford carried out his own private experiments in

37. The phrage: i
phrage Mechanica) hepg: s

A
B) ;oae corner of the cloakroom of Nelson College
hthe Cloakroom of Canterbury College

A comer of the rg
om allotted to him i :
I 0 him in the bo

mhe laboratory of Nelson College Wit hous§

:lggests that Rutherford’s

human warpyg,
essly as g mach

D)  Had an apy;
Plituge I'SCience ®Specially cp,
Y Chemistry,

V)
(R\

» €motion, intell; -
. ellige A
ine, igenceetc L




5 28'

29

30.

31

32.

33.

gentence has been given in direct/indirect speech
' ec

suggested, select\thte o t!mt b,est expresses the same scritt(:) ut of the four alternati

He said, FWhatar yor doing? nce in indirect/direct R

asked me what you were doing. t speech.

A) He aske .
B) He asked what he is.dom&*
0) He asked me what I have been doing:-
D) He asked me what I was.doing.
gelect correct synonym for «Reverberate
) eflect
) Accelerate
) Revitalize
D) Gibberis
lelilrlgrtr?l;lilanks' the border of the neighboring country.

assembled ,at

D) deployed, along.
lined segment in the given

Select the most appropriate option to substitute the under
sentence.
The house has auctioned pefore we reached there-
A) Had auctioned :
B) Had been quction€
Cc) Was auctioned -
D) Has been auctioned
In this question, the sentence is proken into four parts. Find out the error part in the
nd mark your answer.
e with

sentence from the given options &
ticipating side by sid

No struggle can ever succeeded without women par

men.
A) No struggle can ever succeeded

B) Without women participating
C) Sideby side with men
D) No error

lgiov\::lhs.egtence is in active/passive voice. Out of the four choices suggested '-select the
ich best expresses the same sentence in passive/active voice. B
1 items in the room. Even the carpet has been torn.

’ll;he burglar tiestroyed severa
) Several items are destroyed in the room by the burglar. Even the carpet has been

torn.
B enis i | |
) Several items in the room were destroyed by the burglar. Even the carpet W
" : 1 £ as

9 |

@ ~ [pT.O.
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22.

23.

24,

25,

operation 00 Jammu and Kashmir

(BSF) has Jaunched which

The Border Security FO™2 b infiltration?

(J&K) [nternational Border to cur
A) Operation Border

B) Operation Control

C) Operation Star

D) Operation Alert

‘ NK:
Consider the following statements about Project HIMA

1) Itisaproject of Border Roads Organizati(?n (BRO) i OB
2) Itisresponsible for construction of roads in Ladakh regio

Which of the above statements is/are correct?
A) Onlyl

B) Only2

C) Bothland?2

D) Neither 1 nor 2

As per Koppen’s classification of Indian climate, Jammu & Kashmir, Himachal Pradesh
and Uttarakhand are the part of which of the followin g climatic region?

A)  Semi-Arid Steppe By

B) Tundra type

0)) ColdHumidtype N e e e
D) Tropical Monsoon type

ﬁ;ﬁﬁigglj&&\ the unique Style of a learner i, order to
A) " perpetuate, develop

appreciate, focyg

absorb, maintajp ;

discover, harnesg - i,

— ittothe

D)

10/071/2024



5, Who built Shalimar Bagh and NishatBagh, iy, J
aShmir?

; A) Akbar
B) Jahangir
Aurangzeb
D) Shahjahan

16. purple revolution in J&K is associated with

A)  Maize
B) Saffron
C) Brinjal

D) Lavender
ty of Tt emples’in Jammu & Kasmir?

t is known as the ‘Ci

17. Which distric
A) Udhamput
B) Reasli
C) Kathua
D) Jammu
18. Who built the Rajouri Fortat Dhanidhar Village?
A) Raja Prithvi Paul

B) Noor ud dink
C) Rajal ambu Lochan*

D) Mian Hathu

19. Which temple is known as Chota Kashi?

A) Peerkho Temple
B) Ranibireshwar Temple
C) Purmandaal Temple
D) Panchvaktar Temple
idents :

J&K ’s state legislature to define permanent resl

20. Which article empowered
provide special rights to them?
A)' Article 1
B) Article 35
C) (Article35A
D) Article 370

21. Pradhan i Ujj j
i Skﬂll\/;;xggrt[ig ngalayOJna is related to
B)  Financial inclusion
C) LPG connection
D) Electricity connection

| [BTOY

(Set-D)
%) "
11/01/2024 153



10.

11.

12,

13,

ayal and Tary
be the originator of the Kh :
idered to

ing is cons
Who among the fol.lowmg. éal b
styles of Hindustani Class!

1 han
A)  NiyamatK .
B)  Mohammad Shah Rangile
C)  AmirKhusro
D) Tansen

p 1

in19409?

A)  Acharya Vinoba Bhave
B)  JawaharL g Nehru
C) BrahmDuy;t

D) Ba GangadharTjlak

‘ i nstitution,
The following date g mentioned in the Preamble of the Indian Co
A) January 26,1950

B)  January 25,195,
O November 26, 1949
D) November 25, 1949

The Black Galaxy or Invisible galaxy” wag recently discovereq In which country?
A)  Turkey |

B) Italy

C) China

D) Israg]

The greenhoyge effect in the atmosphere IS produceqg due to

A) bsorption and T€-emission of Infr, i

B)

€mission of Visible light

n
by the at
€mission of visj

ble light by cloudg
Which form ig used to file an

applicatiop for Obtainip Pe mber
Y an Indjap resident? : "Manent A_ccount Nu
A Form 49

14/01/2024
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: 1 3CC e T
‘Operation Sesha’, which was Jaunched recently, aims Lo cuty |

A) Tortoises

B) Timber

9)) Exotic Birds
D) Tusk

The highest peak of the Himalayas in India is in
A) Uttar Pradesh

B) Kashmir

C) Sikkim

D) Himachal Pradesh

e and

Who was inspired by Albrecht Penck’s pioneering ideas to study world climat

develop climate classifications?
A)  WladimirKoppen

B) Eduard Suess

C) Alfred Hettner

D) Carl Ritter

Which is the longest National Highway in India?
A) NHS | et

B) NH6 ’ »

C) NH7

D) NHS8

Which period is referred to as the period of population explosion?
A) 1901 - 1921 }

B) 1901 - 1951

C) 1951 -1981

D) 1981 - 2001

Where is Sasthamkotta Lake also called as ‘Queen of Lakes’ located in India?

A) Gujrat
B) Kerala
C) Kamataka
D) Kashmir«

‘Golden Revolution’ is related to
A) Precious minerals

Pulses and Dal
Jute and Cotton

(3)



